H H = um A _
80310 E:iats;?li;e#‘trhobnu?grg |Ittelstander ot KENIG & MEVER

Stands For Music
Diese Montageanleitung bitte sorgféltig durchlesen!

TECHNISCHE DATEN ( : : : : : 4.1 Halterung senkrecht ausrichten | 4.3 Vorbohren
e 4.2 Bohrlécher markieren. z.B.: g6 mm
STATIV Spreizdiibel
- Héhe gesamt: 1190 mm 23 mm Holz-
- Héhe Auflage: 1020 mm schraube
- Rundsockel: 2 275 x 41 mm
- Grundrohr: © 20 x 1000 mm S
MATERIAL 0
- Sockel: Stahl, verzinkt, PA, TPE .
- Grundrohr: Stahl @ f o
OBERFLACHE schwarz (-55), pulverbeschichtet g ) o) ©
reinweiB (-76), pulverbeschichtet (6-80310-1-76) ) ' ’ o
GEWICHT 2,9kg B.
FLASCHENHALTER (Euroflasche) WAND-
- FlaschengroBe: Breite x Tiefe: max. o/m102 mm Gesamthdhe MONTAGE
- Klemmbereich: Tiefe 65 - 102 mm 8 /
- Tropfschale: 2 70 x 47 mm —
=
MATERIAL ) FLASCHEN- BEFESTIGUNGS- @4.5 LOCHSTEINE, BETON
- Flaschenhalter: Stahl, Polyamid HALTER BEISPIELE - Kunststoffdibel 6 x 30 mm
- Gewinde: Stahl, Messing, Zink 4.4 HOLZBALKEN mit Holzschraube 4,5 x 35 mm
OBERFLACHE schwarz (-55), pulverbeschichtet - Holzschraube 4.5x35mm |\ o conken, ausblasen,
reinweiB3 (-76), pulverbeschichtet Héhe der bohren, senken, ausblasen, ! Diibel setzen,
GEWICHT 0,65 kg Auflage i Halterung anbringen, Halterung anbringen,
ge im : :
montierten Holzschrauben eindrehen Holzschrauben eindrehen
SICHERHEITSHINWEISE Zustand
Die Sicherheit der Installation héngt ab von: o 40 40
RUNDSOCKEL g ol
Aufgrund der Schwere vorsichtig handhaben, ~ m e %
insbesondere nicht fallen lassen (Quetschgefahr). | U (/77
MONTAGE | @%
Auf feste Schraubverbindungen achten. 2% -e
UNTERGRUND < cacnmmcns ' 2x '
Stander nur auf geeigneten, d.h. ebenen und \ A. / @"‘“‘W-O I @m@ e
tragfahigen Béden abstellen. STATIV- @
TRAGLAST
Nur flr Desinfektionsflaschen passender Grof3e; ( MONTAGE \
siehe oben TECHNISCHE DATEN. | C.
UMGEBU"NG o ) MB_ AN FLASCHENHALTER
Negative duBere Einflisse (St6Be, Herumzerren, ~1 VORBEREITEN

Erschitterungen, Wind etc.) sind zu vermeiden.
HANDHABUNG

Bei Richtungsanderungen der Spenderflasche stets
den kompletten Stéander drehen. Niemals das
Gewinde 3 der Flaschenhalterung Iésen.

MONTAGEANLEITUNG
STATIV

1 Rundsockel (mit Gummiring) auf den Boden legen,
2 Grundrohr mit dem AuBengewinde bis zum
Anschlag in den Rundsockel eindrehen. @ 20x1000

FLASCHENHALTER (Euroflasche)

A. STANDERMONTAGE

3 Gewindebolzen des Flaschenhalters bis zum
Anschlag in das Grundrohr eindrehen.

B. WANDMONTAGE
4 siehe Abb. 4.1 - 4.5 (Schrauben nicht im Lieferumfang)

C. FLASCHENHALTER VORBEREITEN
5 Zubehérbeutel 6ffnen:
a. Flugelmutter M5 (2x), b. U-Scheibe @ 5,3 mm (2x)
c. SchloBschraube M5 x 12 mm (2x), d. Klemmbigel
6 Klemmbiligel 5.d am Flaschenhalter befestigen:
- Bugel auBen Uber die Haltewinkel schieben,
- SchloBschrauben 5.¢ von innen durchstecken,
- U-Scheiben 5.b tUber die Gewinde schieben,
- Fligelmuttern 5.a aufschrauben.
7 Die Tropfschale kann zur Reinigung
entnommen werden. AnschlieBend die Schale
von oben wieder in die Freimachung einpressen. é

D. DESINFEKTIONSFLASCHE (nicht im Lieferumfang)
8 Desinfektionsflasche im Flaschenhalter abstellen, /
9 Flasche mittels Bugel 5.d festklemmen, ~

10 beide Fliigelmuttern 5.a festziehen.

INFORMATIONEN
f

STATIV

N

D.
DESINFEKT.
FLASCHE

—(

HINWEIS: Bei Stander und Flaschenhalter handelt es sich
nicht um medizinisch zertifizierte Produkte.

- Negative Auswirkungen des Desinfektionsmittels auf die
Produkte (Oberflachen, Material) sind uns nicht bekannt. &
- Gleichwohl empfehlen wir, mégliche Ruckstande des
Desinfektionsmittels stets zu entfernen, um evtl. Schaden
zu vermeiden und Sie so lange Freude am Produkt haben.
- Zur Reinigung ein leicht feuchtes Tuch und
nicht scheuerndes Reinigungsmittel benutzen. KONIG & MEYER GmbH & Co. KG

Desinfektionsmittel nicht im Lieferumfang enthalten. Kiesweg 2, 97877 Wertheim, www.k-m.de
80310-000-55/76 Rev.01/Rev.16 03-79-901-00 10/20

@275




80310 Disinfectant stand

with bracket

Please read these assembly instructions carefully!

TECHNICAL DATA

STAND

- Total height: 1190 mm

- Height support: 1020 mm

- Round base: 0275 x 41 mm

- Base tube: © 20 x 1000 mm

MATERIAL

- Round base: steel, galvanized, PA, TPE

- Base tube: steel

SURFACE black (-55), powder-coated
pure white (-76), powder-coated

WEIGHT 2.9kg

BOTTLE HOLDER (Euro bottle)

- Bottle size: width x depth: max. o/m102 mm

- Clamping range: depth 65 - 102 mm

- drip cup: 2 70 x 47 mm

MATERIAL

- Bottle holder: steel, polyamide

- Thread: steel, brass, zinc

SURFACE black (-55), powder-coated
pure white (-76), powder-coated

WEIGHT 0.65 kg

SAFETY INSTRUCTIONS

The safety of the stand depends on the:

ROUND BASE

Handle with care due to the load, do not drop

(crushing hazard).

MOUNTING

Ensure that all screw connection are tight.

SURFACE

Only use the stand on suitable, i.e. level and

stable floors.

LOAD

Only for disinfectant bottles with suitable size;

see above TECHNICAL DATA.

SURROUNDINGS

Negative external influences (knocks, dragging around,
vibrations, wind etc.) must be avoided.

HANDLING

When changing the direction of the dispenser bottle
always turn the entire stand. Never loosen the thread 3
of the bottle holder.

INSTALLATION INSTRUCTIONS
STAND

1 Place the round base (with rubber insert) on the floor,
2 screw the base pipe with the external thread into
the base plate as far as it will go.

BOTTLE HOLDER (Euro bottle)

A. STAND MOUNTING

3 Screw in the threaded bolt of the bottle holder into
the base tube as far as it will go.

B. WALL MOUNTING
4 see fig. 4.1 - 4.5 (Screws not included in delivery)

C. PREPARING BOTTLE HOLDER
5 Open the accessories bag:

a. wing nut M5 (2x), b. washer g 5,3 mm (2x)

c. carriage bolt M5 x 12 mm (2x), d. clamping bracket
6 Fitting the clamping bracket 5.d to the bottle holder:

- Slide the bracket from outside over the mounting bracket,

- insert the carriage bolts 5.c from the inside,
- thrust washers 5.b over the threads,
- screw on wing nuts 5.a.

7 The drip cup can be removed for cleaning purposes.
Subsequently press the drip cup from above back
into the holder.

D. DISINFECTANT BOTTLE (not included in delivery)
8 Place the disinfectant bottle in the bottle holder,
9 clamp the bottle by means of the bracket 5.d,

10 tighten both wing nuts 5.a.

INFORMATION

NOTE: Stand and bottle holder are not
medically certified product.

- Negative effects of the disinfectant on the products
(surfaces, material) are not known to us.

- Nevertheless, we recommend to always remove possible

residues of the disinfectant in order to avoid possible
damage and to enjoy the product as long as possible.

- For cleaning purposes use a slightly damp cloth and
a non-abrasive cleaning agent.

Disinfectant is not included in the scope of delivery.

KONIG & MEYER

Stands For Music

1190

I©

Support
height in
assembled
condition

—
/_ MOUNTING

(6-80310-1-76)

Total height

A
STAND

MB_ b
@ 20x1000

—_ (W/'(
MM

@275

BOTTLE
HOLDER

STAND

4.1 Align holder vertically 4.3 Pre-drilling
4.2 Mark the drill holes e.g..e6mm
Expansion anchor

© 3 mm Wood
screw

®© ﬁ
f o
0
o0
B.
WALL
MOUNTING /
MOUNT @4.5 PERFORATED BRICKS,
EXAMPLES CONCRETE
4.4 WOODEN BEAM - Plastic anchor 6 x 30 mm

- Wood screw 4,5 x 35 mm with wood screw 4,5 x 35 mm

drill, countersink, blow out, ! drill, countersink, blow out,

attach bracket, screw in set the anchor,
wood screws attach bracket, screw in
wood screws
40

40
@#ﬁ@;
N W/////,mm,

| &>=90

¢3

2X

C.
PREPARING
BOTTLE HOLDER

D.
DISINFEC-
TANTBOTTLE

KONIG & MEYER GmbH & Co. KG
Kiesweg 2, 97877 Wertheim, www.k-m.de

80310-000-55/76 Rev.01/Rev.16 03-79-901-00 10/20




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


